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13.

fRE. Bl

4+4+4+4=2; (4+4+4)+4=3;

4+ (4—B)xb=4;(4x4+4)+4=5 4+(4+4)+4=6.

14. &2 1 1950

3

=

U /7B (50+20)x100=250 (T=K) ,
V B8 (50+25)x100 =200 (T3K) ,
W E/FEf (50+5)x100=1000 (T3f) ,

X BB (50+10)x100=500 (T=K) .
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4 R 2 A TRV RS AR 4EE T2 250+200+1000+500=1950 (FK) .

15. &ZE 1226

k. S EFTEfEH, Ak 9x4-2=347T, [fi 1922+34=56......6% 18, 3, HIEAIZE L9
TCAHE L T ER.

I 1922 =34x56+9x2, HIE5 AT B, 56 (USMIZHE 2 SIS, JE3h4x56+2 = 226 4.
AEVE 16 (4 F) G, /DR 34 77, EREIES 4 AT 36 7T, TR 102 i, B

BRETE Y (30%) , EBHERDY 4-30 -2 %

IR O IS, TR 1922 S5, BEELEEERD 2 %,

R, FTEIHE R Fy 56 RN, SHEHMBENEST RS, K 226 57

EZE . 28

FRE. SRR (EER Y/ NRES Ry k, AITKEUE 1, 2,3, 4,5, 6, 7. 55— {EHAL ELHYBRE SRS A]

fEE k+3,k+4,---,10.
BRI

k=1H% (1,4),(1,5),(1,6),(1,7),(,8),(1,9), (1,10), 3£ 7 fF;

k=2 H%, (2,5),(2,6),(2,7),(2,8),(29), (2, 10), 3t 6 fi&F;
k=3HF (3,6),(3,7),(3,8),(3,9), (3, 10), It 5 f;
k=4 8%, (4,7),(4,8),(4,9), (4,10, I 4 f;

k=5H%, (5,8), (5,9), (5, 10), 3 fE;
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k=6 %, (6, 9), (6, 10), I 2 i,
k=7 B, (7, 10). 3 178

KEIZGEE By 1+2+3+4+5+6+7 = 28 (f&).



